



103.) Kennzahlenberechnung

Lösung

1.)

| | | | |
|------------------|-----------------------|-----------|------------------------|
| Lohn | 100.00 | Mat | 100.00 |
| SV | 58.75 | V+V | <u>11.75</u> |
| BK | <u>83.25</u> | | 111.75 |
| | 242.00 | R+V 18.0% | <u>20.115</u> |
| <u>R+G 14.0%</u> | <u>33.88</u> | | 131.865 = <u>1.318</u> |
| | 275.88 = <u>2,758</u> | | |

2.)

| | | | |
|--------------|--------------|---------|------------------------|
| Lohn incl. : | Fr. 25`112.- | x 2,758 | = Fr. 69`258.90 |
| Mat incl. : | Fr. 9`002.50 | x 1,318 | = <u>Fr. 11`865.30</u> |
| | | | Fr. 81`124.20 |
| MwSt | 7.7 % | | = <u>Fr. 6`246.55</u> |
| <u>Total</u> | | | = <u>Fr. 87`370.75</u> |